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Instructions to Candidates
Read the following instructions carefully before you open the question booklet

1. Answers should be written only on a separate answer sheet
2. Write your Name and Roll number very clearly on the test booklet and answer sheet.
3. Write down the Booklet Question code in the appropriate box on the answer sheet
4. There are 50 questions in this test. All are compulsory. Total time will be one hour
5. Please follow the instructions given for marking the answers
6. For all the questions 1-50, shade with ball point pen on the choice of the correct alternative on the

answer sheet against the corresponding question number. Like this
7. Since the time allotted for this question paper is very limited you should make best use of it by not

spending too much time on any one question.
8. Rough work can be done anywhere in the booklet but not on the answer sheet/loose paper
9. Every correct answer will be awarded one mark
10.Please return the Answer Sheet only to the invigilator after the test.

Sigaram Entrance Test (SET) Model Question
Sigaram Super Foundation 9th std.
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UôQYoLÞdLô] Ï±l×ûWLs

úLs®×jRLjûR §\lTRtÏ Øu ¸rYÚm Ï±l×ûWLû[ LY]UôL T¥dLÜm

1. T§pLû[ R²VôL RWlThÓs[ ®ûPjRô°p GÝRÜm.

2. EeLs ùTVo Utßm Y¬ûN Gi¦û] ªLj ùR°YôL ®ûPjRôs Utßm úLs®

×jRLj§p GÝRÜm.

3. úLs® ×jRLj§u AûPVô[ GÝjûR ®ûPj Rô°p ARtLô] LhPj§p GÝRÜm

4. úRoÜ Bn®tÏ 50 úLs®Ls ùLôÓdLlThÓs[]. Aû]jÕ úLs®LÞdÏm LhPôVm

T§p A°dL úYiÓm. úRoÜdLô] úSWm JÚ U¦úSWm UhÓúU.

5. T§pLû[ Ï±dL  úLs®jRô°p ùLôÓdLlThÓs[ Ï±l×ûWLû[ ©uTt\Üm.

6. 1 ØRp 50 YûW Es[ GpXô úLs®LÞdLô] T§-û] ®ûPjRô°p AkRkR úLs®

Gi¦tÏ úSWôL Es[ LhPj§tÏs (N¬Vô] T§ÛdÏ¬V§p UhÓm) TkÕ Øû] úT]ô

(Ball Point Pen) ùLôiÓ ØÝYÕUôL shade ùNnVÜm

7. ùLôÓdLlThÓs[ úSWm A[YôL CÚlTRôp, JúW úLs®«p A§L úSWm ùNX®PôUp,

CÚdÏm úSWjûR Su\ôL TVuTÓj§d ùLôs[Üm.

8. GÝjÕ úYûXLû[ úLs® ×jRLj§p GeÏ úYiÓUô]ôÛm ùNnÕ ùLôs[Xôm, B]ôp

®ûPjRô°úXô ApXÕ úYß Lô¡Rj§úXô GÝRd áPôÕ.

9. JqùYôÚ N¬Vô] ®ûPdÏm JÚ U§lùTi YZeLlTÓm

10.®ûPjRô°û] UhÓm úRoÜ Ø¥kRÜPu úUtTôoûYVô[¬Pm §Úl©d ùLôÓdLÜm.
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1. The length of a chain used as the boundary of a semicircular park is 36 m. Find the area of the park.

AûW YhP Y¥®Xô] éeLô Ju±u GpûX úY-VôLl TVuTÓjRlThÓs[ Ne¡-«u
¿[m 36 Á G²p éeLô®u TWlT[ûYd LôiL

a) 77 m2 b) 44 m2 c) 88 m2 d) 154 m2

2. A jet plane travels at a speed of 450 km/hr. Find the time it takes to cover 3900 km
JÚ ù_h ®Uô]m U¦dÏ 450 ¡Á úYLj§p TV¦d¡\Õ G²p 3900 ¡Á çWjûR
GqY[Ü úSWj§p LPdÏm

a) 7  hrs b) 8  hrs c) 10  hrs d) 9  hrs

3. The three exterior angles of a triangle are 130°, 140°, x° then x° is
JÚ ØdúLôQj§u CÚ ùY°dúLôQeLs 130°, 140° G²p êu\ôYÕ ùY°dúLôQm

a) 60° b) 90° c) 45° d) 80°
4. A man saves Rs. 3000 per month from his total salary of Rs. 20,000. The percentage of his saving is

JÚ U²Ro R]Õ UôR YÚUô]Uô] ì.20000j§p ì.3000 úNªd¡\ôo G²p AYWÕ
úNªl©u NR®¡Rm VôÕ?

a) 5% b) 15% c) 10% d) 12%
5. Choose the correct answer

N¬Vô] ®ûPûV úRokùRÓ   

a) 0 b) 1 c)  d)  

6. The population of a village increases at the rate of 7% every year. If the present population is 90,000, what
will be the population after 2 years?
JÚ ¡WôUj§u RtúTôûRV UdLs ùRôûL 90,000, CÕ 7% Gu\ A[®p A§L¬d¡\Õ,
G²p 2 BiÓLÞdÏl ©\Ï UdLs ùRôûL Gu]YôL CÚdÏm?

a) 1,03,041 b) 2,45,222 c) 1,18,458 d) 1,04,051
7. A worker receives Rs.11,250 as bonus, which is 15% of his annual salary. What is his monthly salary?

 JÚ úYûXVôs ì.11250 úTô]NôL ùTß¡\ôo, CÕ AY¬u BiÓ NmT[j§p 15
NR®¡Rm BÏm G²p AYWÕ UôR NmT[m GqY[Ü?

a) Rs. 9250 b) Rs. 3850 c) Rs. 4250 d) Rs. 6250
8. Which of the following is a perfect cube? ©uYÚY]Ytßs GÕ ØÝL] Gi?

a) 125 b) 36 c)  75 d) 100
9. Hamid buys a color TV set for Rs. 15,200 and sells it at a loss of 20%. What is the selling price of the

TV set?
aÁÕ GuTYo ì.15200dÏ ùRôûXdLôh£l ùTh¥ûV Yôe¡ ©u]o ®tÏm úTôÕ 20
NR®¡Rm SxPUûP¡\ôo G²p AkR ùRôûXdLôh£l ùTh¥«u ®tTû] ®ûX GqY[Ü?

a)  Rs. 15,450 b) Rs. 12,180 c) Rs.13,480 d) Rs. 12, 160

10. If one bag weighs 10  kg, find the weight of 15 such bags

JÚ ûT«u GûP 10  kg G²p 15 ûTL°u GûP GqY[Ü?

a)161  kg b) 158  kg c) 185  kg d) 188  kg

11. Which one among the following cell organelle is responsible for the cleaning the cell by digesting foreign
materials?

a) Lysosomes b) Ribosomes c) Mitochondria d) Centrioles
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ùNpL°u Esú[ CÚdÏm úRûYVt\ L¯ÜLû[ ALt± ùNpLû[ ÑjRUôL ûYj§ÚdL
ERÜm ùNpÛßl× GÕ?

a) ûXúNôúNômLs b) ¬úTôúNômLs    c) CûZU¦ d) ×uûUVj§Ls

12. Which of the following is responsible for the clotting of blood?
a) Erythrocytes b) Leucocytes c) Thrombocytes d) none of these

CWjRm Eû\-p Ød¡V TeLôtßm CWjR AÔdLs GûY?

a) £YlTÔdLs b) ùYsû[VÔdLs   c) RhûPVÔdLs d) CûY GÕÜªpûX

13. Bacterial Blight in rice is caused by
A¬£«p Tôd¼¬Vp ©û[h úSôûV HtTÓjÕm ÖiÔ«¬ GÕ?

a) Xanthomonas oryzae b) Xanthomonas citri c) Plasmodium Vivax d) Pseudomonas solanum
14. Which one among the following is called as nitrogen fixing bacteria?

¸rLiPYtßs ûShW_u ¨ûXlTÓjÕRp Tôd¼¬Vô Gu\ûZdLlTÓYÕ GÕ?

a) Azatobactor b) Aspergillus c) Morchella d) Agarius
15. Choose the fermented food from the following

¸rLiPYt±p ùSô§jRp êXm ùNnVlThP EQÜlùTôÚs GÕ
a) Fresh Juice b) Milk c) Wine d) Ice Cream

16. Which of the following gas is formed when coal is heated in the presence of air?
¨XdL¬ Lôt±p G¬Ùm úTôÕ GkR YôÙûY ùY°«Ó¡\Õ?

a) Sulphur dioxide b) Carbon dioxide c) Coal gas d) Nitrogen
17. The main political cause for the great revolt of 1857 was

a) Heavy Taxes b) Dual Government c) Doctrine of Lapse d) None of these
1857-m BiÓ SPkR ØRp ÑRk§W úTô¬u ªL Ød¡VUô] AW£Vp LôW¦ GÕ?

a) A§LUô] Y¬  b) CWhûP AWNôeLeLs
c) AYLô£«-d ùLôsûL  d) CûY GÕÜªpûX

18. The Governor-General who was called as the ‘Maker of Modern India’?
SÅ] Ck§VôûY EÚYôd¡VYo Guß AûZdLlTÓm LYo]o ù_]Wp Vôo?

a) William Bentinck b) Lord Curzon c) Warren Hasting d) Lord Dalhousie
19. Which is the largest hydroelectric power project in India?

a) Bakra Nangal b) Mettur c) Damodar d) Three Gorges Dam
   Ck§Vô®u ªLl ùT¬V ¿oªu¨ûXVm  AûUkÕs[ CPm

a) TdWô SeLp b) úUhåo c) RôúUôRo      d) ØlTs[jRôdÏ AûQ

20. Cotton grows well in
a) Alluvial soil b) Clay c) Black soil d) Laterite soil

TÚj§ GkR Ui¦p ùN¯jÕ Y[Úm?

a) YiPp Ui b) L° Ui c) LÚl× Ui d) ùNmUi
21. Which is called as the ‘Master Gland’ in the body?

U²R EP-u UôvPo ÑWl© Gu\ûZdLlTÓYÕ GÕ?

a) Thyroid b) Pituitary c) Pancreas d) Adrenal
22. When did the Second Battle of Panipat was fought?

CWiPôYÕ Tô²Th úTôo GkR BiÓ SûPùTt\Õ?

a) 1516 AD b) 1526 AD c) 1546 AD d) 1556 AD
23. Buland Darwaza was built during the reign of

×Xkj RoYôNô VôÚûPV Bh£ LôXj§p LhPlThPÕ

a) Humayun b) Shajahan c) Akbar d) Babur
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24. Sati Prohition act was passed in

EPuLhûP HßRp RÓl×fNhPm GkR BiÓ SûPØû\lTÓjRlThPÕ?
a) 1830 b) 1828 c) 1829 d) 1835

25. Threshing is the process of
a) seperating grains b) seperating weeds c) Water management d) Sowing seeds

úTôW¥jRp GuTÕ
a) ùSpU¦Lû[ ©¬jRp b) Lû[ ©¬jùRÓjRp

c) ¿o úUXôiûU d) ®ûRjRp Øû\
26. Name the policy adopted by Lord Dalhousie to extend British empire?

a) Docrine of Lapse b) Khilafat movement c) Zamindari d) none of the above
Be¡úXV Bh£ûV ®¬ÜTÓjÕm úSôdLjúRôÓ PpLÜ£ ©W× ùLôiÓ YkR ùLôsûL
VôÕ?
a) AYLô£«-d ùLôsûL b) ¡XôTj ùLôsûL

c) _ÁuRô¬ Øû\ d) úUtLiPYt±p GÕÜªpûX

27. Algal bloom leads to loss of species diversity which is known as
a) Pasteurization b) Nitrogen Fixation
c) Eutrophication d) Fungal Culture

¿o ¨ûXL°p Tô£ TPoYRôp E«¬] CZl× EiPô¡\Õ, Ck¨ûX GqYôß
AûZdLlTÓ¡\Õ

a) TR²ÓRp b) ûShW_u ¨ûXlTÓjÕRp

c) çokÕ úTôRp d) égûN Y[oRp

28. Palayakar system was introduced by
a) Vishwanatha Nayak b) Rani Mangammal c) Ragunatha Nayak d) Thirumalai Nayak

Tôû[VdLôWoLs Øû\ûV A±ØLlTÓj§VYo Vôo?

a) ®vYSôR SôVdLo b) Wô¦ UeLmUôs    c) WÏSôR SôVdLo   d) §ÚUûX SôVdLo

29. Which of the following is not a permanent member of the United Nations Security Council?
ISô®u TôÕLôl× LÜu£-p ¨WkRW Eßl× AkRvÕ ùT\ôR SôÓ GÕ?

a) USA b) India c) Russia d) UK
30. Which among the following is the first and only state in India to achieve 100 per cent sanitation?

ÑLôRôWm Utßm Õl×WÜ úUmTôh¥p 100% Ru²û\Ü ùTt\ JúW Ck§V Uô¨Xm GÕ?

a) West Bengal b) Sikkim c) Tamil Nadu d) Tripura.
31. Who has won the 2015 Nobel Prize for Literature ?

2015-m Bi¥u CXd¡VjÕdLô] úSôTp T¬Ñ VôÚdÏ YZeLlThPÕ?

a) Isamau Akasaki b) Svetlana Alexievich

c) Patrick Modiano d) Alice Munro
32. Which of the following is the India’s first indigenously developed Light Combat Aircraft (LCA)?

ØÝdL ØÝdL EsSôh¥p RVô¬dLlThP Ck§Vô®u ØRp CXÏWL úTôo®Uô]m GÕ?

a) Dhruva b) Tejas c) Lakshya d) Garuda
33. Which is the capital city of Belgium ?

ùTp´Vm Sôh¥u RûXSLWm GÕ?
a) Paris b) Brussels c) Athens d) Frankfurt

34. Which city is called as City of Golden Gate ?
ReL Yô«-u SLWm G] AûZdLlTÓm SLWm?

a) New York b) Washington c) San Fransciso d) Istanbul
35. Which day is Observed as “World Environment day “?
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EXL ÑtßfãZp §]m Guß ùLôiPôPlTÓ¡\Õ?

a) June 1 b) June 5 c) July 6 d) July 23
36. Which is the highest gallantry award given in India

ÅW¾Wj§tLôL Ck§Vô®p YZeLlTÓm ªL EV¬V ®ÚÕ GÕ ?
a) Param Vir Chakra b) Vir Chakra c) Shaurya Chakra d) Ashoka Chakra

37. The study of algae is called as
Tô£Lû[l Tt±V T¥l× GqYôß AûZdLlTÓ¡\Õ?

a) Oncology b) Phycology c)  Mycology d) Biology
38. ‘Duleep trophy’ is associated with

ÕÄl úLôlûT GkR ®û[VôhúPôÓ ùRôPo×ûPVÕ?

a) Table Tennis b) Cricket c) Badminton d) Golf
39. Who established the Mughal dynasty?

ØLXôV úTWWûN Ck§Vô®p ¨ß®VYo Vôo?

a) Akbar b) Babur c) Humayun d) Bahadur shah
40. What was the orientation of First Five year plan?

a) Agriculture b) Industry c) Technology d) Per capita Income
ØRXôYÕ IkRôiÓj §hPj§u CXdÏ GûR ûUVlTÓj§ CÚkRÕ?

a) ®YNôVm b) ùRô¯pÕû\ c) ùRô¯p ÖhTm d) R²STo YÚUô]m
Directions (41 & 42): In the following two questions find out the alternative which will replace the question

mark.
41. CAT : DDY :: BIG : ?

a) CLL b) CLM c) CML d) CMP
42. Dry : Moisture :: Cold : ?

a) Warmth b) Light c) Shiver d) Weakness
Directions (43 & 44): Select the word that is most similar in meaning to the word in capital letters
43. SMASH

a) crush b) flex c) hurt d) mold
44. PERMIT

a) hide b) protect c) allow d) defend
Directions (45 & 46): Identify the one that does not belong to the group
45. a) 64 b) 96 c) 121 d) 144

46. a) Rhombus b) Cube c) Trapezium d) Square
47. In a certain language CHAMPION is coded as HCMAIPNO how is NEGATIVE coded in that code?

a) NEAGVEIT b) ENAGITEV c) MGAETVIE d) EGAITEVN
48. If NOIDA is written as 39658, how will INDIA be written

a) 36568 b) 63568 c) 63569 d) 65368
Directions (49 & 50): Find the next number in the series
49. 1, 2, 6, 24, ?

a) 60 b) 95 c) 120 d) 150
50. 216, 221, 231, 246, 266, ?

a) 289 b) 271 c) 281 d) 291


